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Secfion A {20 x 2m)
For each question, four options are given, hvose the correct aption
(1, 2, 3 or 4) and shade the corvect oval it the Qptical Answer Sheet,

1) What is,the missing numterin the blank 2

2027 = 2000 + e
CHE

(2) 2

@ 22

(4) 200

2) What is the smallest odd number that can be taomad using the digits
3.6, 1zand 47

(1 134
(25 1364
(3) 1463
(4} 1843

3} 778018 __lgnsmore thag <1280,

(1) 0
() 35

{3) 350
(4) 3500
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The dgifforence belwasn two numbers (= 3750 The numhbers are

s $804 less than May. b 'nw much do the hwo girls

Mire Taiy has S50, b{tm buying 4 pots 1] LCos t$7'8 eacty, she will have

xes of fivas nad si
tQ were thara?

Jeryry pooked 576 s T
o

fivas, how many Hox

ants, If there were 84.haxas of

13T
Ly 7e
3y 512
(&} UbG

fiva 20¢ coins ardien 3¢ comns. How much monsy

=

T

dose e havs 3.1:0@@1‘%‘;@!‘

{1; .78
{oY 32.00
{3y G40
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10)

11) Container A has 3t 40t of water in it After
12 128m¢t of wateris left. How much wate(\w

12)

oy { ~ N D 1
sam and Emma saves $28 and $21 respeciively everyday. &
save in i

3 packets of sugar weigh 845 g. What is the

How much wiil they

weak?

) $49
2) 5147
)\9[90
)

(1
(2
(-
(4) $343

)
o8
3

ass of 1 packest of sugar?
(1) 315g°
(2) 9429
(3) vd8g
(4) 2835¢

stgialel out cown of the wata
as p\_,umd out?

(1) 12912me
(2) 20112m ¢
(3) 20272 mt

(4) ~2t272 e

How many cups are ngeded fo fil the two bowis?

M 8

(2) 10
(3) 20
(4) 40
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fweern 3 and Cis 3 tiires the distance balween A and 3,

Tha distancs )
SAIAL IS nce batwean C and D7

1 00 m :
Y 725m

3y 1275 m

{4y 1700"'m

4) Eunice can skip 20 times in 20 seconds, How mainy times can gho skip in

PO -\
1 omnue”
S
[9) B0
13 100
1 INA -
) 300

Soweeks 4 days to make @ eddy bear How many days does
taddy bears?

4 2
’ \) 41_
205

128
4y 188

P
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Look atthe 2 figures. Howmany right engies are thare atogethar?

(1) 9
(2) 10
(3) 42
(4) 18

17)

RS Rt i

———
—h
LY

4 {0

{£)

Sl

o f'wd

~~

iy

p—
]

(e




) T

clions |

]

e

QoA A
J
12
| - - —

Iy
@

ey

rie Hhe

-1

AT

A
)

L S

— ]' -
5
+
!

¥
i
)
|

i
§
{
k]
3
7
-
}

{
1
—
H
A

-
1§ e
- ter

193



20)

What is the perimeter of the shovs

()
)
(3)
(4)

9 cm
! T ]
|
| |
1 |
| R

4 ¢m
14 om
28 cm

45 em
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Section B {15 X 2o

Sofve the problems and write the correct answaers in the boxes provided.

{

a4, LN g - . o
21a) 3254 » 4085 = ;
L
L
3
jo. PR S
>y Lo =t _
Aol on0h -7t = ;
'
H -
22a) A7B X5 = ;
o B
|
54 Fal%s P SINUINNE & SO i .
220) 536 8= ; :
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o
M
@
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23} Megan had 3707 beads and her mother gava her another 2804 &
How many haads does Megan have now™? '
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25) There were 673 members in the Stience Clut: lust year. This v

feft and 407 new members [O[ﬂ&_.d the club. Fow many memb ors

ol

r, 208 nren\h-’-*r'"
o there now 7

2
|
—

26) A vlece of rock weighs 300g. What is the tria mass of 6 sinls
rocks 7

. ;
¢ 5
§. Ly o
! S . < i
27) Rope Aisfwice as long as Rope B, After 1oy &am was cul from Roge B,
there 15 110cm left. How long is Rapa A? Exprass your answerin m end ot
T
! aF e
;;_-“ }
Look at the graph below and answer ques‘uons 28 end 26
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W23 2w 40 s 80 TO 200 8 TON fu3 f2D 130 140 1ED
Nmbee oF Rudants
28) [f 36 boys scored C, how many girls scored O7 { T
{
{ !

29} An svocwas discovared in tha oxnults, “H* * ntanber of pupils sco

shiculd be the samea. How many pupils wha scored A shoald b

g AS ar‘!d &

e scored AY
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How many angles ez greaterthan 0% i

J
371)
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‘fatfraction of tha snnare is shaded 7?7 i j

32} My Foo spunt 1 vear 3 months In London and 2 years 7 mordhs in Paris.

How ong was he i e two cilies? Express your answer in months.,
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33) Gedana sells an umbrelia for 312 on a ramty day and $18 on a sunny day.
How much more will it cost to buy 3 umbredas on a sunny day than on
arainy day?
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34) Look af the container bejow.

-

1 350 m of water is addad to the containe:, now.amuch waterwill hera ba in e

contalner? Express your answetr n £ and il

|
i’
| ¢
35) The length of a rectangle s 15 om. ts breaativis v em.
YWhat is the area of this rectnngle?

tf



Solve the Ioliowing preblem sums. A working and statements must be shown
clearly. : '

24a0 mf. 280 il of appie iulce was [eff, How much appie juice was in the
nottle ot fesl?

Lxpress vour answar i mi

Angswer ;

PUSELE

LN

ths oldar than lwy sister, Her sistaris 7 years $ monihs

arin years and months.,

Answer . e uAm)

mam s e dimmARm——
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39)

Steven has 52 cards. Ned has 87 cards. Jagies has 20 cards more than Ned.

How many cards do they have altogether?
{1 mark will be awarded for the correct model drawn)

ANSwer

~ir

wers
red and vellowIf there were equal number of radand yellow batiaans
how many yeliow balloons wera thare? '
{ 1 mark will be awarded for the correct model drawvn)

Of the 3000 balloons uged for a party, 2564 ware blue and tha res
Y]

Answes o

s

5

it



40} Tracey houahil 8 hovas of oranges. There were 48 oranges in gach box.
She zep'”ved Hiorm ard put 9 oranges in 1 baskel How many baskets
would abe need (o v All.the oranges?

Ajswe o

47) - Gary nasto tun mar*(’ 2 square-fishd thice: Thaiength of 1-side of the field:
What is the tolal disiance Gary has to run? ' -
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Cathy has some $2 and $10 not

-~ She has twice a3 many $2 n

10 notes. If she has &1 notes, how much doas she have?

Sit ate

) e

(1) Who ate mora?

> ‘4 4
SNRWN L

L VNN |

of a pizza and her brother ate =c¢

- D

(i) What fraction of the pizza was left?

{ 1T mark will be awarded for th

e comect mode! drawn.)
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CHI.J PRIMARY (TOA PAYOH)
SEMESTRAL ASSESSMENT 2,
PRIMARY 3 MATHEMATICS

2004

1)

ro
[\7
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—
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2) 5 25) pa2

3) 3 28Y 1 kg BOD g
4) 4 273 Sm 10 cm
5) 3 23\I34

6) 2 20). 20 pupils
7) 5 30% 3

8) 3 31) 174

9) 4 32) 48

10) 1 33 § 18

i) 1 34 1 lirve 55
12) 4 A3} 105

13) 1 38 17200 nl
14) 2 37) 6 years 11
15) 3 333 208 beads
16 1 3%) 218

17) 2

haskets

18) 2

193 1 52) & 24
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21) a)..8041

22) a) 2380
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